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\count@=-24\relax

- \relaxe 37t EHE2 SAHQ = XAt

\count@="128000

- \count@ol= 100| XZEH=ICE,

\def\ten{10} \count@=\ten 2042..

- \count@ol= 10200] HZEEICt \ten LS9 AHO|AE
AUHE 2= DHHOA O|0] AR HFALCE.
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\count255=-1

\countdef\count®=255 \count®=-1

- M B|X|AE 255HE \countpl 2 MaE £ ULt
- B|HA| &I 0 --- 2557}K], e- TEXO 3276771tX|, 2082
655357} X| EilxlﬁH% Xl =3tCt.

\newcount\foo \foo=1

: EiIII*E1 gl xt2lofl tS2 2 \fooS EEPLCL.
MEXE2 \countdef CHAl \newcountZ 0|8% Z.
: EiIOI';*'EI \newcounter:= O A Hel=H UACH

\expandafter\newcount\csname ca#l\endcsname
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\chardef\foo=44032 \ifnum\foo=44032
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\clubpenalty=50 \widowpenalty=50

\year=2000 \month=12 \day=31

\hyphenchar\font=45

\catcode @=11 |2I0|Elle] \makeatletter HH

\spacefactor=1000 | [0|El°] \g EH

\tracingmacros=1

- YYO| L} EAHSLY| o{FL}. The TXbook, 271% 0|5t EH .
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\number"ACO0 | = 44032

\romannumeral1750 |= mdccl

\uppercase\expandafter{\romannumerall750}
= MDCCL

\the\hyphenchar\font |= 45

\the\za |= 0.0pt

\number\z@|=0
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\advance\counta by -1

\multiply\count@ by 2

\divide\counta by 3

- EAF HI= 23T 2B 2°T — 1 7EX|O{OF BHLt,
- e-TeXe| | B

\count@=\numexpr(\count®-1) * 2 / 3\relax

- \divide ¢4t
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SIE H2|= ¥HH, \numexpr



\ifnum\count@ < 44032

- BARRE = >, < B9 SL.

\ifcase\count@®\ori\or2..\or F\else\ERR\f1

- \else B2 J|Et A2 X2|st7| 93t HoZ gloj=
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4pt 1.5ex .5\hsize 5\counta

- sp, pt, bp, cm, mm, in, pc, cc, dd § S2|H 2| 2|,
em, ex, 20| HX[AH & LHEZO|, HIR2F, &X|0]
LHE"HS—ASH Chel= sp—k T2 £ 4 QUL

- TR ol W, Ad B, LHWRE ST 2L

- \kern<dimen>2 <dimen> gtZ229| S &QIstCt.

- LHRXMOZ 20| sp Bl et Opxt7EX|CE

\dimen®=1pt \number\dimen® sp |= 65536sp
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LiE 2olinternal dimen —Z0] 2| X|AE{, m}2}n|E]

\dimen0=10pt

\dimendef\dime

n®=0 \dimena=10pt

\newdimen\foo \foo=1em

\the\fontdimen2\font |= 3.348pt. X ZE°| o2t

\setbox0=\hbox

{7t}\the\wde | = 10.287pt. HFAL{H|

\the\hsize |= 307.28987pt. TtHL{H|

\the\parindent

= 0.0pt. S{M 7|

\the\maxdimen

= 16383.99998pt = 2°Y — 1sp
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\advance\dimena by -10pt

\multiply\dimena by 3 \dimen@=3\dimena

\divide\dimen@ by 2 \dimen@=.5\dimena

- Lz, 249l by Flol= "2 2L

\dimen@=\dimexpr(\dimen®-10pt)*3/2\relax

\dimeng=1.5\dimexpr\dimen®-10pt\relax

\ifdim\dimen@ < lem
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Opt plus .4pt minus .2pt

- SOLIZAL E0E £ U= 71 S
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. \hsl<1p<glue> \vskip<glue>= 22} $+H D EQ}
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o
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\skip0=10pt plus3pt\relax

\skipdef\skip@=0 \skipa=10pt plus3pt\relax

\newskip\foo \foo=1em plus lex\relax

- 2ilo|&lQ] \newlength M2l \newskip#1l

\the\baselineskip |= 14.88007pt. EZtZ{ (%)

\the\parskip |= 6.0pt. 2¢tZHH

\the\leftskip |= 0.0pt. 2ct 21% ofH

\the\rightskip |= 0.0pt plus 1.0fil. 2¢t LEZ of4H
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\advance\skipa by 10pt plus4pt\relax

\multiply\skipa by 3

\divide\skipa by 2

\skip@=2.5\skip2

- <B4><phQ>E Zo| BH. mEtM \skipae plus £21t
minus £=0| Af2pEl gfo| Lt

\glueexpr(\skipa+10pt plus4pt)*3/2\relax

\ifdim\skipa < \skip2

- plus 223 minus & H|elet A2{Ziot H|w
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